PHYSICS

BOOKS - CHETANA PHYSICS (MARATHI
ENGLISH)

LIGHT-REFLECTION AND REFRACTION

1. What is the reason for the twinkling of star?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EV2UV8OfFLz6

A.(a) Explosions occurring in the stars

from time to time

B.(b) Absorption of light in the earth's

atmosphere

C. (c) Motion of stars

D.(d) Changing refractive index of the

atmospheric gases

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EV2UV8OfFLz6
https://dl.doubtnut.com/l/_KsvYZZiDb9hl

2. If the refractive index of glass with respect
N o .
to airis B} then the refractive index of air with

respect to glass .

1

B.(b) 3

D.(d) =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KsvYZZiDb9hl

3. We can see the sun even when it is little

below the horizon because of ....

A. (a) reflection of light

B. (b) refraction of light

C. (c) dispersion of light

D. (d) absorption of light

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6G2NDiYAz0g0
https://dl.doubtnut.com/l/_5j9et6c6xVsu

4. When light ray passes form air to glass slab

then it

A. bends towards normal

B. bends away

C. does not bends

D. turn back

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5j9et6c6xVsu

5. When light passes thorough glass slab,the

incidnet ray and emergent ray are

A. intersecting

B. parallel

C. making an angle

D. touching

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Gdhw9WLjPkdE
https://dl.doubtnut.com/l/_oifng5XVlXo4

6. When light ray travels from denser medium

to rarer, then it

A. bends towards normal

B. bends away from normal

C. goes undeviated

D. deviates randomly

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oifng5XVlXo4

7. The velocity of light in air is

A. 3 x 10"

B.3 x 108

C.1.5 x 108

D.0.3 x 103

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CA5HrecJUUXl

8. Rakesh performs the experiments on tracing
The path of a ray light passing through a
rectangular glass slab for different angles of

incidence .He observes than in all cases Zi

>/rbut Li=Le Li< Lrbut Li=Le Li> Le

but Li=Lr Li< Lebut Li=Lr

A Li>Lrbut Li=Le

B.Zi< Lrbut Li=Le

C.Li> Lebut Li=Lr

D.Zi< Lebut Li=/Lr


https://dl.doubtnut.com/l/_RPuiLhLXGFiv

Answer:

o Watch Video Solution

9. When a ray of light travels from air to glass
and strikes the surface of separation at 90°
then it

A. bends towards the normal

B. bends away form the normal

C. passes without bending

D. reflects to air


https://dl.doubtnut.com/l/_RPuiLhLXGFiv
https://dl.doubtnut.com/l/_3mD0s9S5uE5e

Answer:

o Watch Video Solution

10. When a ray of light travels from air to glass

and strikes the surface of separation at 90°

then it

A.0°

B.30°

C.60°

D.120°


https://dl.doubtnut.com/l/_3mD0s9S5uE5e
https://dl.doubtnut.com/l/_Ez0uNOhPTmPf

Answer:

o Watch Video Solution

1. The ray of light gets deviated when it
passes from one medium to another medium

because _

A. the colour of light chagnes

B. the freuency of light changes

C. the velocity of light changes

D. none of these


https://dl.doubtnut.com/l/_Ez0uNOhPTmPf
https://dl.doubtnut.com/l/_Q0CatxZf4YIg

Answer:

o Watch Video Solution

12. A ray of light strikes the glass slab at an

angle of 50° What is the angle of incidence?

A.50°

B.40°

C.60°

D. 120°


https://dl.doubtnut.com/l/_Q0CatxZf4YIg
https://dl.doubtnut.com/l/_a1o6aFxnfPc1

Answer:

o Watch Video Solution

13. A glass-slab is placed in the path of

convergent light. The point of convergence of

A. moves towards the slab

B. moves away from slab

C. remains at the same point

D. undergoes lateral shift


https://dl.doubtnut.com/l/_a1o6aFxnfPc1
https://dl.doubtnut.com/l/_YEmVfYNy5GwO

Answer:

o Watch Video Solution

14. What is the speed of light in a transparent
medium having absolute refractive index 1.25?
A.1,25 x 10°m /s
B.2.4 x 10°m /s
C.3.0 x 10°m /s

D.1.5 x 10°m /s


https://dl.doubtnut.com/l/_YEmVfYNy5GwO
https://dl.doubtnut.com/l/_D2AaKkx1NYsB

Answer:

o Watch Video Solution

15. Which colour of light deviates the least in

the spectrum obtained with a prism?

A. red

B. yellow

C.violet

D. blue


https://dl.doubtnut.com/l/_D2AaKkx1NYsB
https://dl.doubtnut.com/l/_5rHkLeUBRyTN

Answer:

o Watch Video Solution

16. The figure shows the path of ray of light
propagating from medium 1 to medium 2.The

refractive index of medium 1 with respect to


https://dl.doubtnut.com/l/_5rHkLeUBRyTN
https://dl.doubtnut.com/l/_BtDoqAXPX8S4

medium 2 is__

MMedium 1

457
Medium 2

° Watch Video Solution

17. Will the light travel through soapy water
with the same velocity as is travels through

air?


https://dl.doubtnut.com/l/_BtDoqAXPX8S4
https://dl.doubtnut.com/l/_NZECL1dwDVwm

A. yes

B.no

C. depends on the conditions

D. none of these

Answer:

o Watch Video Solution

18. If n,, n,, n, are the refractive indices of

violet, red and blue light respectively, in a


https://dl.doubtnut.com/l/_NZECL1dwDVwm
https://dl.doubtnut.com/l/_AU2UcjV5QATZ

given medium then which of the following is

true?

B.n, > ny > n,

C.n, > ny <n,

D.n, > n, <mny

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AU2UcjV5QATZ

19. The speed of light in a transparent medium
is 2.5 x 10°m /s. Find the absolute refractive

index of that medium

o Watch Video Solution

20. If the absolute refractive indices of glass
and water are 3/2 and 4 /3 respectively, what
is the refractive index of glass with respect to

water?

° Watch Video Solution



https://dl.doubtnut.com/l/_3IilHSmbareI
https://dl.doubtnut.com/l/_N5J58GR10jYw

21. The refractive index of water is 3 and

speed of light in air is 3 x 10°n /s. Find the

speed of light in water

o Watch Video Solution

22.Solve and fill in the blanks

1) 3x10Fmfs| 12x1W0Pmfs ||

-y o T TV . B

3)| 2x10°m/s 15



https://dl.doubtnut.com/l/_N5J58GR10jYw
https://dl.doubtnut.com/l/_NLCiXYhPrG2q
https://dl.doubtnut.com/l/_fmb37XjLLwb7

o Watch Video Solution

23. The velocity of light in air is

A 3 x 10

B.3 x 10°

C.1.5 x 108

D.0.3 x 108

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fmb37XjLLwb7
https://dl.doubtnut.com/l/_oM2duKolqi2p

24. When light ray travels from denser medium

to rarer, then it

A. bends towards the normal

B. bends away from the normal

C. goes undeviated

D. deviates randomly

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1Jwy8U3NRyPf
https://dl.doubtnut.com/l/_xoFl1yUwI0uq

25. Find the odd word out: Reflection,

dispersion, refractive index, refraction

o Watch Video Solution

26. Complete the analogy: 2n1= V1/V2 : : 1n2

° Watch Video Solution



https://dl.doubtnut.com/l/_xoFl1yUwI0uq
https://dl.doubtnut.com/l/_bxrlg1ONoAcL

27. When light ray travels from denser medium

to rarer, then it

° Watch Video Solution

28. Define Law of refraction

° Watch Video Solution

29. Red colour is used in danger signal

° Watch Video Solution



https://dl.doubtnut.com/l/_2f0J7sZQr3hb
https://dl.doubtnut.com/l/_wAvZxlso2vB1
https://dl.doubtnut.com/l/_B7E2k6Zv3ODB

30. Draw neat and labelled diagram for partial

and total internal refraction

o Watch Video Solution

31. The ray of light gets deviated when it
passes from one medium to another medium

because _

o Watch Video Solution



https://dl.doubtnut.com/l/_B7E2k6Zv3ODB
https://dl.doubtnut.com/l/_U3mnxg9UHh6l
https://dl.doubtnut.com/l/_i3T7nR2xJfDk
https://dl.doubtnut.com/l/_qt8RruuvdRop

32. If the angle of incidence and angle of
emergence of a light ray falling on a glass slab

are i and e respectively, then prove that i=e.

o Watch Video Solution

33. With a neat labelled diagram explain

rainbow formation

° Watch Video Solution



https://dl.doubtnut.com/l/_qt8RruuvdRop
https://dl.doubtnut.com/l/_NwYxhE3HCCLb

34. What is refraction of light?

o Watch Video Solution

35. Complete the diagram.

o,



https://dl.doubtnut.com/l/_G4OiumvzrOws
https://dl.doubtnut.com/l/_hnjMk9Xz9Qdv

° Watch Video Solution

36. The absolute refractive index of water is
1.36. What is the velocity of light in water?

(velocity of light in vacuum is 3 x 10%m /s)

° Watch Video Solution

37.If the light was incident on the interface at
an angle greater than critical angel what

occurs?

| e |


https://dl.doubtnut.com/l/_hnjMk9Xz9Qdv
https://dl.doubtnut.com/l/_l3CTbswd2mQu
https://dl.doubtnut.com/l/_kucz6lBunrRI

& Wwatch Video Solution I

1. Find odd one out: Mirage, twinkling of stars,

scattering of light, apparent position of stars

o Watch Video Solution

2. Find odd one out: Critical angle, angle of

incidence, angle of refraction, alternate angle

| 8 |


https://dl.doubtnut.com/l/_kucz6lBunrRI
https://dl.doubtnut.com/l/_bjiZoAGIVg0m
https://dl.doubtnut.com/l/_YpIGLDtWed0a

L ' Watch Video Solution J

3. Find odd one out: Reflection, dispersion,

refractive index, refraction

o Watch Video Solution

4.Find odd one out : Brown, Blue, Green, Red

o Watch Video Solution



https://dl.doubtnut.com/l/_YpIGLDtWed0a
https://dl.doubtnut.com/l/_40l0n5vroc50
https://dl.doubtnut.com/l/_EzeLsBQ8ISoe

5. Complete the analogy : Refractive index of

water:1.33: : Refractive index of air:__

o Watch Video Solution

6. Stars:Point source of light: : Planets :

o Watch Video Solution

7. Complete Analogy : Diamond: Denser

medium: : Air:



https://dl.doubtnut.com/l/_JSTCRy1RQ0dd
https://dl.doubtnut.com/l/_HwXig3M213Ro
https://dl.doubtnut.com/l/_ByFAPwVSKZHQ

o Watch Video Solution

8. Complete Analogy : Least deviation : Red:

Maximum deviation:

° Watch Video Solution

9. What is the reason for the twinkling of

star:?

o Watch Video Solution



https://dl.doubtnut.com/l/_ByFAPwVSKZHQ
https://dl.doubtnut.com/l/_fqvNCgTptD3K
https://dl.doubtnut.com/l/_Pa2l1v3CtpIS
https://dl.doubtnut.com/l/_FuUuQUCJcEri

10. Complete Analogy : Ice:1.31: : Water:

o Watch Video Solution

1. If n,, n,, n, are the refractive indices of
violet, red and blue light respectively, in a
given medium then which of the following is

true?

° Watch Video Solution



https://dl.doubtnut.com/l/_FuUuQUCJcEri
https://dl.doubtnut.com/l/_CNjNM920KOcx

12. Complete the analogy: 1n2 = v2/v1 : : 2nT

o Watch Video Solution

13. Complete the analogy: Lens: Transparent: :

Mirror:

o Watch Video Solution

14. What is the refractive index of water?



https://dl.doubtnut.com/l/_n6rjRNMzdD7n
https://dl.doubtnut.com/l/_DpVk1eTxCUD8
https://dl.doubtnut.com/l/_SbloV4NnisxW

o Watch Video Solution

15. Write the ratio of velocity of light in first
medium to the velocity of light in the second

medium.

o Watch Video Solution

16. What do you mean by dispersion of light?

o Watch Video Solution



https://dl.doubtnut.com/l/_SbloV4NnisxW
https://dl.doubtnut.com/l/_XtmpsYbD5UIh
https://dl.doubtnut.com/l/_NrzPuXsjI0GD
https://dl.doubtnut.com/l/_ymc0HB0DtkdF

17. What is critical angle?

o Watch Video Solution

18. What is refraction of light?

o Watch Video Solution

19. What is the value of angle of refraction if

angle of incidence is 0°?

° Watch Video Solution



https://dl.doubtnut.com/l/_ymc0HB0DtkdF
https://dl.doubtnut.com/l/_Lw0wrzwL6aYt
https://dl.doubtnut.com/l/_VugMUOmR6ems

20. When sunlight passes through glass prism

which light deviates the least?

o Watch Video Solution

21. What is total internal reflection?

o Watch Video Solution

22. What is partial reflection?

| & I


https://dl.doubtnut.com/l/_VugMUOmR6ems
https://dl.doubtnut.com/l/_9nWjPwFFrdsT
https://dl.doubtnut.com/l/_3NJ98w4S49Nx
https://dl.doubtnut.com/l/_7aocZK8Ubocs

| ¥ Watch Video Solution

23. What is absolute refractive index?

o Watch Video Solution

24. Match the pairs:

(1) Diamond (a) 15
(2) Air (b) 2.42
(3) Alcohol (c) 1.77
(4) Benzene (d) 1.36
(e) | 1.[]m_t3

o Watch Video Solution



https://dl.doubtnut.com/l/_7aocZK8Ubocs
https://dl.doubtnut.com/l/_Q3RmqaDoDuVH
https://dl.doubtnut.com/l/_cASWpJ0M4HxU

25. Match the pairs:

e

Column A ~ ColumnB
(1) Formation of (a) Total internal
rainbow reflection

(2) Twinkling of stars | (b) Dispersion

(3) Mirage (c) Dispersion,
refraction,
reflection

(4) Spectrum (d) Atmospheric
refraction

o Watch Video Solution



https://dl.doubtnut.com/l/_cASWpJ0M4HxU
https://dl.doubtnut.com/l/_o1IB1r0nSTqs

26. Match the pairs:

ColumnA | ColumnB

(1) Refraction () ﬂgﬂf:pect to
(2) Refractive index | (b) i::ng; r]:: e |
© ﬁfiﬁi index lff-" Spectrum |
(4) Dispersion i.:d} :;‘: i
€@ Mirage |

° Watch Video Solution

27. True/false: Light has different velocities in

different media.



https://dl.doubtnut.com/l/_fA32JabhUyZS
https://dl.doubtnut.com/l/_oaWl7K4lCos4

I o Watch Video Solution

28. True/false: The speed of violet light is less

than that of red light in prism.

° Watch Video Solution

29. True/false: Incident ray and refracted rays

are parallel to the normal

o Watch Video Solution



https://dl.doubtnut.com/l/_oaWl7K4lCos4
https://dl.doubtnut.com/l/_ammPeQkdtJdP
https://dl.doubtnut.com/l/_t1phO78gM37R
https://dl.doubtnut.com/l/_ExvchhU895fY

30. True/false: The refractive index of the

medium depends on the wavelength of light

° Watch Video Solution

31. When light ray travels from denser medium

to rarer, then it

o Watch Video Solution

32. When light ray travels from denser medium

to rarer, then it


https://dl.doubtnut.com/l/_ExvchhU895fY
https://dl.doubtnut.com/l/_AZtAqcQsU8XU
https://dl.doubtnut.com/l/_447bCeA00w2M

° Watch Video Solution

33. True/false: If angle of incidence is zero,then

the angle of refraction is 90°

o Watch Video Solution

34. When light ray travels from denser

medium to rarer, then it

° Watch Video Solution



https://dl.doubtnut.com/l/_447bCeA00w2M
https://dl.doubtnut.com/l/_dSb5UsAWdaLp
https://dl.doubtnut.com/l/_DMfb1JztBv4d
https://dl.doubtnut.com/l/_INHL1iIYJOec

35. True/false: The splitting of white light into

its component colours is called dispersion

o Watch Video Solution

36. The phenomenon of splitting of sunlight

into spectrum is called

° Watch Video Solution

37. A mterial whose refractive index is 2.42.

| e |


https://dl.doubtnut.com/l/_INHL1iIYJOec
https://dl.doubtnut.com/l/_23oG4ws3x08a
https://dl.doubtnut.com/l/_wqWdap9BOA9T

& Wwatch Video Solution ]

38. What is the reason for the twinkling of

star:?

o Watch Video Solution

39. Fill in the blanks : The ratio of sine of angle
of incidence to the sine of angle of refraction

is called

o Watch Video Solution



https://dl.doubtnut.com/l/_wqWdap9BOA9T
https://dl.doubtnut.com/l/_mwmcktBTB1XZ
https://dl.doubtnut.com/l/_TTJxWHV6BweA

40. Which colour of light deviates the least in

the spectrum obtained with a prism?

o Watch Video Solution

41. Fill in the blanks : Phenomenon behind

formation of rainbow is

o Watch Video Solution

42. The unit of refractive index



https://dl.doubtnut.com/l/_zg3AnWBwpTzj
https://dl.doubtnut.com/l/_4uAJYe1ICHgA
https://dl.doubtnut.com/l/_x9s86pnPBtgf

o Watch Video Solution

43. Refractive index of kerosene

o Watch Video Solution

44, The absolute refractive index of water is
1.36. What is the velocity of light in water?

(velocity of light in vacuum is 3 x 10%m /s)

o Watch Video Solution



https://dl.doubtnut.com/l/_x9s86pnPBtgf
https://dl.doubtnut.com/l/_YVZENWaFRQo2
https://dl.doubtnut.com/l/_aVWBgGEwmiaj
https://dl.doubtnut.com/l/_75kYcPwJMvJG

45. Light travels with a velocity 1.5 x 10°m /s
in @ medium. On entering 2nd medium its
velocity becomes 0.75 x 10°m /s. What is the
refractive index of the 2nd medium with

respect to the first medium

o Watch Video Solution

46. If the speed of light in a medium is
1.5 x 10°m /s, what is the absolute refractive

index of the medium?

o Watch Video Solution



https://dl.doubtnut.com/l/_75kYcPwJMvJG
https://dl.doubtnut.com/l/_ipd2oAzDe7sd

47. If the absolute refractive indices of glass
and water are 3/2 and 4/3 respectively, what

is the refractive index of glass with respect to

water?

o Watch Video Solution

48. If the refractive index of second medium

with respect to first medium is 2,1 and that of


https://dl.doubtnut.com/l/_ipd2oAzDe7sd
https://dl.doubtnut.com/l/_ZcHgby2bPGMm
https://dl.doubtnut.com/l/_3MGlfkL0ucIL

third medium with respect to second medium

is 3,2 What and how much is 3,17

° Watch Video Solution

49, If the angle of incidence and angle of
emergence of a light ray falling on a glass slab

are i and e respectively, then prove that i=e.

° Watch Video Solution

50. What is refraction of light?


https://dl.doubtnut.com/l/_3MGlfkL0ucIL
https://dl.doubtnut.com/l/_XmcHozyGbms0
https://dl.doubtnut.com/l/_PfR5ec4inqAy

° Watch Video Solution

51. What do you mean by dispersion of light?

° Watch Video Solution

52. Define Spectrum of light.

° Watch Video Solution

53. Define Angle of incidence


https://dl.doubtnut.com/l/_PfR5ec4inqAy
https://dl.doubtnut.com/l/_jM7i6ZqsazIb
https://dl.doubtnut.com/l/_tHY96iGxFSA2
https://dl.doubtnut.com/l/_QOTC01egqF5k

° Watch Video Solution

54. Define Angle of incidence

° Watch Video Solution

55. Define Law of refraction

° Watch Video Solution

56. What do you mean by dispersion of light?


https://dl.doubtnut.com/l/_QOTC01egqF5k
https://dl.doubtnut.com/l/_JI6SzbAqfNvo
https://dl.doubtnut.com/l/_2O49XXGJMlBe
https://dl.doubtnut.com/l/_262RQ8mp42bE

° Watch Video Solution

57. What is absolute refractive index?

° Watch Video Solution

58. What is total internal reflection?

° Watch Video Solution



https://dl.doubtnut.com/l/_262RQ8mp42bE
https://dl.doubtnut.com/l/_JDu87deZkV7c
https://dl.doubtnut.com/l/_aptAOh5j3E0X

59. Mirage or have you seen mirage which is
an illusion of water on a hot road or desert.

Explain

o Watch Video Solution

60. Explain Rainbow formation or prove that a
rainbow is the combined effect of the
refraction, dispersion and total internal

reflection of light

° Watch Video Solution



https://dl.doubtnut.com/l/_v7Byw15NilW3
https://dl.doubtnut.com/l/_CwVTQdbG9iBT

61. Why Stars twinkles at night ?

o Watch Video Solution

62. Give Reason : Planets do not twinkle.

o Watch Video Solution

63. We can see the sun even when it is little

below the horizon because of ...

| & I


https://dl.doubtnut.com/l/_CwVTQdbG9iBT
https://dl.doubtnut.com/l/_8bxkp7j0bVPb
https://dl.doubtnut.com/l/_SZOHIH7vOiKk
https://dl.doubtnut.com/l/_9hN29Izk9a0T

| ¥ Watch Video Solution |

64. Red colour is used in danger signal

o Watch Video Solution

65. Is it possible to enjoy a rainbow at fountain

in any season?

° Watch Video Solution



https://dl.doubtnut.com/l/_9hN29Izk9a0T
https://dl.doubtnut.com/l/_y8XXxOGCEluH
https://dl.doubtnut.com/l/_c2XJ9UhHsTeh

66. Will the light travel through soapy water
with the same velocity as is travels through

air?

o Watch Video Solution

67. Will the velocity of light be same in all

media?

o Watch Video Solution



https://dl.doubtnut.com/l/_jSV25xBqng2d
https://dl.doubtnut.com/l/_lGTF8iOmrcJb

68. label the diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_DU14rku9Ab1f

69. label the diagram.

i

—\—\__\_\_\_\_

| s

o Watch Video Solution

70. What is absolute refractive index?

o Watch Video Solution



https://dl.doubtnut.com/l/_Xkvvi2dMpiVd
https://dl.doubtnut.com/l/_MUNZAuaUhE6H

71. The ray of light gets deviated when it
passes from one medium to another medium

because _

o Watch Video Solution

72. The ray of light gets deviated when it
passes from one medium to another medium

because _

o Watch Video Solution



https://dl.doubtnut.com/l/_o2JNeGlVDDJZ
https://dl.doubtnut.com/l/_500KslQna3Zs
https://dl.doubtnut.com/l/_ouFK3leNKyOj

73. When light ray travels from denser medium

to rarer, then it

o Watch Video Solution

74. The phenomenon of splitting of sunlight

into spectrum is called

o Watch Video Solution



https://dl.doubtnut.com/l/_ouFK3leNKyOj
https://dl.doubtnut.com/l/_O2LwchV1boEh

75. Refraction of light passing through a glass
slab. what is the relation between angle of
incidence and angle of emergent? and which

rays are parallel ?

Incident ray
A ] :
Bl Alr
P Q
et ", Glass i
Refraction'i ’ -
of light
5 M P R
g - » Emergent ray
“I Air

Fig. &.6: Refraction of light passing Hoough o gless shab

° Watch Video Solution



https://dl.doubtnut.com/l/_WslOzphxCoIg

76. What do you mean by dispersion of light?

o Watch Video Solution

77. What is total internal reflection?

o Watch Video Solution

78. Explain Rainbow formation or prove that a

rainbow is the combined effect of the


https://dl.doubtnut.com/l/_hmMvsJgSA4nm
https://dl.doubtnut.com/l/_vQpsY88QjtX8
https://dl.doubtnut.com/l/_36lN45XChYas

refraction, dispersion and total internal

reflection of light

° Watch Video Solution

79. When light passes thorough glass slab,the

incidnet ray and emergent ray are

o Watch Video Solution

80. Write the colours of the spectrum?

o Watch Video Solution



https://dl.doubtnut.com/l/_36lN45XChYas
https://dl.doubtnut.com/l/_L6lPMIE7VG9f
https://dl.doubtnut.com/l/_IwGXQvBHvJRd

81. Write the colours of the spectrum?

o Watch Video Solution

82. What is the dispersion of light?

o Watch Video Solution

83. What is spectrum of light?

o Watch Video Solution



https://dl.doubtnut.com/l/_IwGXQvBHvJRd
https://dl.doubtnut.com/l/_SFY5Tv59Q293
https://dl.doubtnut.com/l/_oC47QVyRtya0
https://dl.doubtnut.com/l/_1lCfAzv1m0Zo

84. Which colour of light deviates the least in

the spectrum obtained with a prism?

° Watch Video Solution

85. Which three major phenomena are

responsible for rainbow formation?

o Watch Video Solution



https://dl.doubtnut.com/l/_1lCfAzv1m0Zo
https://dl.doubtnut.com/l/_JqvH9wZL3MGk
https://dl.doubtnut.com/l/_r8s3bxmdZVPu

86. What do you mean by dispersion of light?

o Watch Video Solution

87. Give a diagrammatic representation of

Rainbow production

° Watch Video Solution

88. When light passes thorough glass slab,the

incidnet ray and emergent ray are



https://dl.doubtnut.com/l/_PtwKccRte2d3
https://dl.doubtnut.com/l/_RI1ymvxQ80JP
https://dl.doubtnut.com/l/_8cl2qBlcoRga

o Watch Video Solution

89. From incident white light how will you
obtain emergent light by making use of two

prisms?

o Watch Video Solution

90. You must have seen chandeliers having
glass prism. The light from a tungsten bulb

gets dispersed while passing through these


https://dl.doubtnut.com/l/_8cl2qBlcoRga
https://dl.doubtnut.com/l/_g7MCxoqII4oD
https://dl.doubtnut.com/l/_lBjXZI74JEhX

prisms and we see coloured spectrum. If we
use on LED light instead of tungsten bulb, will

we be able to see the same effect?

o Watch Video Solution

91. Have you seen that objects beyond and
above a holi fire appear to be shaking? why

does this happen ? Give scientific reasons

o Watch Video Solution



https://dl.doubtnut.com/l/_lBjXZI74JEhX
https://dl.doubtnut.com/l/_qmkR9W8ItLbT

92. Complete the diagram.

o,

o Watch Video Solution



https://dl.doubtnut.com/l/_DzeApLdpUb5m

93. Write the ratio of velocity of light in first
medium to the velocity of light in the second

medium.

o Watch Video Solution

94. If the light was incident on the interface at
an angle greater than critical angle which

phenomenon occurs?

o Watch Video Solution



https://dl.doubtnut.com/l/_iD7UEwH791ii
https://dl.doubtnut.com/l/_CzstXzz0QEdq
https://dl.doubtnut.com/l/_LJvGgTWFSx0q

95. Compete the followign diagram:

T —

° Watch Video Solution

96. Which colour of light deviates the least in

the spectrum obtained with a prism?

o Watch Video Solution



https://dl.doubtnut.com/l/_LJvGgTWFSx0q
https://dl.doubtnut.com/l/_yzdc3Pu5ibCL

97. Among orange and violet, which colour has

highest velocity?

o Watch Video Solution

98. What is critical angle?

o Watch Video Solution

99. State any one phenomenon in nature

which is based on total internal reflection.



https://dl.doubtnut.com/l/_lkQQFZYCcs8Y
https://dl.doubtnut.com/l/_mVWRQGeeNyWd
https://dl.doubtnut.com/l/_QQNdeZET91bh

o Watch Video Solution

100. What is total internal reflection?

o Watch Video Solution

101. Which phenomenon does the diagram

show?


https://dl.doubtnut.com/l/_QQNdeZET91bh
https://dl.doubtnut.com/l/_z8Pnm1tqPQvv
https://dl.doubtnut.com/l/_GDrrHxbiF6SW

o Watch Video Solution

102. Which law obeyed by light makes this

phenomenon occur?


https://dl.doubtnut.com/l/_GDrrHxbiF6SW
https://dl.doubtnut.com/l/_YZ0jJUVQuOHe

o Watch Video Solution

103. Name one more phenomenon in nature

where the below law is observed.


https://dl.doubtnut.com/l/_YZ0jJUVQuOHe
https://dl.doubtnut.com/l/_3UWc4L6GQOit

° Watch Video Solution

104. Answer the following question form the

diagram: How many times does the light


https://dl.doubtnut.com/l/_3UWc4L6GQOit
https://dl.doubtnut.com/l/_FaV20qPsxpM6

undergo refraction?

Medium Air
Imdclent Y ——
ray k\a\' S

i B o e
I.l I ".:.. [+ I|:r 1

L
r ':._ y
%

Relracted ray —1"-._'_ i : '

Y
-
! g \J. B |
| oy {: 1
i 4 - .
“u, Emergent ray |

° Watch Video Solution

105. Answer the following question form the

diagram: Which two rays are parallel?


https://dl.doubtnut.com/l/_FaV20qPsxpM6
https://dl.doubtnut.com/l/_ttbRejY9tkpa
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o Watch Video Solution

106. Answer the following question form the

diagram: Which two angles are equal?


https://dl.doubtnut.com/l/_ttbRejY9tkpa
https://dl.doubtnut.com/l/_5fkKxrHdj283
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o Watch Video Solution



https://dl.doubtnut.com/l/_5fkKxrHdj283

